Linear Equations Test Review

Horizontal and Vertical Lines
1. For each of the following lines, determine the slope, and determine the equation. (Hint — you do not NEED to graph):

a. Passes through (-3.5, 4) and (-3.5, 0) g. Passes through (-7.3, 9) and (-3.5, 9)

Slope: JAUATI A Slope: L
Equation: X 5.9 Equation: \i - q

b. Passes through (1, 2) and (2, 2) h. Passes through (3, 5) and (3, -5)
Slope: (. Slope: UL AW
Equation: \| = £ Equation: X = O

c. Passes through (3, -4) and (-8, —4) i. Passes through (-4, 1) and (-1, 1)
Slope: (. Slope:
Equation: l g Equation: \1 \

d. Passes through (5, -4.8) and (5, —3.9) j. Passes through (3, -4) and (-8, —4)
Slopé: Uity Slope: C
Equation: ' = O Equation: \]l |

e. Passes through (~4, —4) and (-4, 3)

. Passes through (5, -4.8) and (5, -3.9)

i

Slope: WAL A Slope: UL
Equation: X 4 Equation: o)
f. Passes through (-3, 0) and (2, 0) l. Passes through (3.5, -3.5) and (3.5, 3.5)
Slope:  ( Slope: UL (] v d
[=C Equation: X - .0

Equation: \/

2. Determine whether the following lines are vertical, horizontal or neither:
Ha. y=5 Hf y=45

Vb x=-3.4 V g x=-93

Vc. Passes through (7.8, 4) and (7.8 -4) N h. Passes through (8, 4) and (-8 —4)
Nd. Passesthrough (5.73,4.02) and (6.73,-4.02) N i. Passes through (23, 3) and (3, 23)

N e. Passes through (6.5, 4.2) and (-6.5, —4.2) | j. Passes through (6, 3.4) and (-6, 3.4)



3. Determine the equation for each of the following lines:
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Parallel and Perpendicular Lines

4. For each of the following, find the equation of a line that is parallel, and a line that is perpendicular:

* \ \o,.\s.‘;‘. S Parallel Perpendicular
w vaty a. =_3x+7 S
y \';,Afs\/\)* e %;A‘7
b. | y=8x-6 " —\
\i = 1> 4 = & X +1C
C y=9 \10 = & X = zq
d y=5 \ - (’\ A X = Lj
e. =
- a )
_2 =¥+ Y 5 AT
y=3x-—5 )
f.

y=gx+7 N gx - T y= Yx +H2

e. | Aline that passes through

(0,1) and (2, 4) ﬂ-%x*'@ = F K-8
f. | Aline that passes through 5 ) 3
(-5, -1) and (-8, —6) \1 —2 K = j))[‘f \‘ z
g. | X= -4 E - .
\ =9 N=
h. | x=3 X Z—-{ \1 =—3
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5. Conclude whether the following pairs represent parallel lines, perpendicular lines, or neither, and state WHY:

1 1
@ ly=-x-7 and y=;x—5 d | y=9x and y=gx+3
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6. Find the equation of a line that is perpendiculartoy = gx —9 and passes through (3, —4)
1

= g Rt 5

7. Find the equation of a line that has the same y-intercept as 3x — 5y + 2 =0 and is parallel toy = 5x + 7y = 5=0
9

\|]= -9 - =
— X 3y

8. Find the equation of a line that has the same x-intercept a§ y = 6x — 4 and passes through (3, 2)

TR Gty

9. Find the equation of a line that is perpendiculartoy = —Tlx+ 8 and has the same y-intercept aty =2x-9

\1: Uy —Ci



10. Line AB passes through A(-7,0) and B(-3,10). Line CD passes through C(0,0) and D(2, 5).

a. Plot these points and draw the lines.
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11. A triangle has vertices A (-8,
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), B(1, 8) and C(11, -3).
a. Plot these oints and draw the triangle.
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b. Do these lines appear to be parallel,

perpendicular, or neither? Explain.
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Conclude whether these lines are
parallel, perpendicular, or neither
by finding the slopes of the line
segments.
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Does this appear to be a right

triangle? Explain.

\L A& a Dmn fo b @ r\f)wf
wvu, e - 2} loks ke it S
q5° |

Using the slopes of the line

segments, conclude whether or not

this is a right triangle.
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Standard Form

12. The following equations are in Slope y-Intercept Form. Convert them to Standard Form.

a. y=2x-33
X ~\ %3 =0

e. y==5x-27

5x 1 \’of 27:=0

qL/X +554 } Llﬁ'—‘g‘

13. The following equations are in Standard Form. Convert them to Slope y-Intercept Form.

a. 4x+y+2=0
\I: 'le "Z

b. 5x-7y+1=0

= Bl gk
T gREg

¢ x-14y-7=0

d. 5x+12y-4=0
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e. 9x+24y+35=0

3 _ 25

3 24
f. 5x-7y=0
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Graphing from Standard Form

14. The following equations are in Standard Form. Graph each line on the grid at the right by finding the x and y

intercepts. LABEL each line.
a. 5x-6y+30=0

(O; l)) 3 L (-f" )
b. 12x-8y-48=0
(0, -6) + (4,0)

c. Xx+5y-10=0

s { 1N
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o)
d.  30x-—16y+120=0
(0, 15)" (4,0)
e. 3x-15y+30=0

(0,2) + (-10,0)
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Word Problems in Standard Form
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15. You have 300Ibs of rice that needs to be packaged and stored. You have two types of containers: 3lb

containers and 5lb containers.

a. Write an equation that represents the different number of 3lb and 5Ib containers that will hold all of

the rice. Define your variables.
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b. Graph this relationship by finding and
plotting the x- and y-intercepts.
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c. If you use twenty 3Ib containers, how many 5Ib containers do you need? Use your equation.
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16. Julia loves to read. She has $50 to spend at her favourite used book store. Comic books cost $2.50 each, and

novels cost $6.25 each.

a. Write an equation that represents the different number of comics and novels she can buy. Define

your variables.
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b. Graph this relationship by finding and (oS
plotting the x- and y-intercepts.
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c. IfJulia buys 10 comics, how many novels can she buy? Use your equation. # of wvels
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Challenge Question

17. Aline has the equation 12x — 6y + 3 = 0. Point A (2,3) lies somewhere beside this line. If you were to draw a

line perpendicular to the original line and passing through this point, it would be the shortest distance
between the line and the point. What is the equation of this line that represents the shortest distance?

Where does it intersect the original line?
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